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B. RedHat
C. CentOS
D. SUSE

Answer: D 

QUESTION: 105
 
Which power option is provided with the S822? 

A. (1)1400 Watt 200-240 Volt
B. (2) 1400 Watt 200-240 Volt
C. (2)1400 Watt 125-240 Volt
D. (1)1400 Watt 125-240 Volt

Answer: B 

QUESTION: 106 
There are 20 partitions on the customer's Power8 system , want to allocate additional 
storage from non- IBM SAN to each partition. License fees for all partitions drivers 
and multi-path software beyond the current budget. Which one of the following 
technologies will meet their demands in the budget ? 

A. NPIV
B. SAS
C. SSD
D. vSCSI

Answer: C 

QUESTION: 107 
A large manufacturer wants to consolidate their existing AIX and Linux 
environments to POWER8. The customer has four AIX servers and twelve Ubuntu 
servers. Which solution will satisfy the requirements? 

A. (1) S822L with Power KVM
B. (1) S822 with Power VM and (1) S822L with Power KVM
C. (1) S822L with Power VM
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D. (1) S822 with Power VM and Power KVM

Answer: B 

QUESTION: 108 
The shared storage pool (SSP) was established in Cluster Aware AIX (CAA) Which 
of the following can provide the kind of high-value features ? 

A. client logical partition memory thin provisioning (Thin provisioning).
B. Zero configuration operations to implement NPIV storage.
C. throughout the cluster VIO server synchronization hard name.
D. Logical partitions automatic failover between Power Systems servers.

Answer: D 

QUESTION: 109 
A customer would like a Scale-out server solution with eight cores. They require 
three partitions. Each partition needs redundant LAN and SAN adapters. Which 
solution supports the minimum requirement? 

A. 
(2) 146GB disk drives
(2) 4-port LAN
(2) 4-port SAN adapters
B.
(6) 146GB disk drives
(6) 4-port LAN
(6) 4-port SAN adapters
C. 14) 146GB disk drives
(4) 4-port LAN
(4) 4-port SAN adapters
(2) VIO Servers
D. (2) 146GB disk drives
(2) 4-port LAN
(2) 4-port SAN adapters
(1) VIO Server

Answer: D 
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C. an RDX module
D. a half-height LTO drive slot

Answer: D 

QUESTION: 110
 
In addition to the media slot , S824 GEC also integrates Which of the following ? 

A. (6) USB port
B. (10) Gb HMC port
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